5

2011

5

2011

70

)

2011 3
23 4 28 12

(

28

11

26

57

46

18

56

10

4 15 23 34

63 44

70

17

29

17

44

32

12

BER

i ¥ :

Ik

[ memmmEmensl



2011

k234 (20114F) WAL MG RE F i RLR O TR MR EH (EH) FRIKR

5

AB

iEbsy

A ERER (B8
RERDEFEDERMA

RoMEE
(Em %
BELIL
i D

EERICRALT-
BEAEESOHBON

EES55 |- . =EE2
pLb |=E4|RES| T

IT
D ih iz
TEE
2L

3118

1485465

2P [Fr23E(20118E)E
e A REE FHE]

12

17E5425

EER

4

19F536%

BEP

23

38128

3651245

I

3

3FF5943

8

4F509%3

I

S

ABFF16%3

HBR

4p%32453

HAR

5B 1249

#iaR

5p%42453

6B 1943

el

6FF345

EHR

Ca

ra|—

6EF4977

FERLF

2285165

B

(=]

2285255

B

2285275

aFit

23F§35%

#HimR

[

235435

aFit

3813H

8EF257

B

10F526 %

i

38148

10650253

R A

158525

EHR

1685255

EHR

38 15H

| B§365

EHR

5EF 344

EHR

TEF294%

FIE

wal—

| —

20F%31 43

TEL

3R16H

2654159

R

1285235

R

12F%5243

FTERST

38178

2185325

TESFSLT

3198

6EF194%

HAR

8FE 345

PEHR

18655697

18655753

HAR

18B%57 5

el E=z BN Bz =20 =0 s =0 e e =l K=zl =20 =0 e =l o 0 ol = e e =l =T =20 =0 =2 e

=1 (=1 (=2 E=0 =20 B0 =1 Bl =] E=1 E=1 =0 K=z0 K=z k=21 =1 =0 G =0 B =20 k=20 B0 e =) =20 E=1 K=22 K3=d E2d =] =0 (=0 ==0 k=0 =]

38208

14852059

=

3H228

1285385

EER

[#5] [%]
5|0

3823H

1B§12%5

AR

7B 1245

EER

TEF 364

EER

Lo |

— Moo
(= = N = e

8EE4T 5

TERAH

3H25H

20F%36%

=¥ T

3H27H

198235

RPIR

o

3H28H

TEF244

\LIFE 7

=]
[=]

4H1H

19F%49%3

PER

[~]

4H3H

1685395

RPIR

[9%]
[=]

(]

4848

1885295

TEFESS

|

4878

2365337

=

[}
[==]

S0 B Erl Bl B Bl Bl Pl Bl B Bl Bl B Al B0 B Rl Bl ol Rl = sl el e D0 Dasd Dl Dl Dl Dl D= bl Bl Bt el el el el et Bl =t £2=1 £==1 BN K=21 [3:0 PR LRI S
[==] Li=} L= ] F=r] K& 0 - ou) Nobl By Jael Ri=] (=< LR F=pN (400 B0y [OVR |\ LN B Neul Ki=] Ra=] ) K= R ) B -0 KLY [ L L] B fan ]l [i= [eol L E=o) [ 0 B0 K/0) Rob] By e

48118

1785165

EER

[#~]

=1 £l =1 k=] = el =1 E=] 1=] e o E=1 =1 =1 =] G G =1 =1 [=] = E=1 E=1 B0 =1 E=1 E=1 E=] [=] = [ =] e =1 Il =1 =1 s =1 =1 E=] s B =1 el B =1 L =1 BN =0 =0 L= B2~
S G =0 1t e e =0 B =0 el =l k=0 G =0 5l Bl L0 B =0 B S =0 =0 A = = = = 1= A S B = = = = R =l e =l e E=1 N = e e =0 e e =)
=0 el k=1 L] e B B=0 K220 =1 =1 =] G Bl B =0 =0 =0 L= =1 =] I=] k=] k=] =] G =0 =0 =0 0 20 B el B0 =0 k=1 e 250 e Bl =0 e =0 S 0 2l B0 L B k=1 =]

(sl Pl N Reol Rall B ol B




2011 5

51 1765265 [1E B IR 3 1 0 2 0
52|4A 118 [18E5055 (1B 518 3 0 3 0 0
53 20E 29 (1B EIR 3 1 2 0 0
54 SEj 08 | BER 43 1 7 10 25
55 SEF09 1R R 3 0 { i i
56| 45128 0Ef24 7 |lRER 3 0 0 0 K
57 12BF21 3 [ FERA A 5 0 0 0 5] x
58 14B507 4 [1EB IR 15 4 7 4 0
59 16651457 | BE IS 20 0 0 0 20] x
6048138 |10E508 7 [tEE 2 33 | 5 8 19
61 6EF 43 | EWHE 9 0 0 0 9] x
62,5148 1265004 [1E B 1R 3 0 2 1 0
63 2085245 [ B FF 24 0 0 2 22
64 21E245 1B BIR 1 0 0 1 0
65|48 15823340 [1E B8 8 0 0 0 8] x
66|48 168 |11 197 [iIHEARR 11 4 5 2 0
67[48198]| 4E145|[FIEE 3 i 0 1 1
68|4A198]| 6E534 BB R 3 0 0 1 2
69 |4 H21 B |22637 0 | FER 9 | 3 5 0
70|48 248 | 2065505 [1E B2 15 0 0 | 14

& & 825 76 117 131 501] 17

FL:

HENT : FARFCRELEMEEZSELTRETET U L2OMELLTRELEHIZ, A& TERM > -EH(32E)
FEDOIT : FECACSEROEBO-HERTEMMEFOHARELLE-IEC, EEOHT. EEOFEOBRELE ICEY:BYIZH
FTEEAMoEH(12RE)

KEDOT : BB ERL-ER(26E)

GE) FHBICEALTOSERILEZEEICOVWTE, EREZEALTLETOT, 8. EETLHEHHYFET.

2011

4

742 4,277
3 11 14 46 2006 ( 18 )8
M9.0
4 15
6
15 M7.0 140 25
M6.0 76 M5.0 444 195
Table.1 2011 4
Table.2
26
Table. 2011 4 1 30
130 23
10 3
Table.2 2011 4 1 30
170
25




